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Run 5707, mpswise, acc0: Beam ON, Laser ON
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Mean: 15.6585 /- 00027
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Run 5707, mpswise, accO: Beam ON, Laser OFF
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Mean: 13528 +- D10

Sid Dev: 02724 - 0.0007
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Run 5707 mpswise, BCM: All Run 5707 mpswise, BCM: Beam OFF
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Run 5707, mpswise, lasPow: Beam ON, Laser ON
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Run 5707, mpswise, lasPow: Beam ON, Laser OFF
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Mean: 61852 /- 0.0031

Sid Dev: DB5TE - 0.0022
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Run 5707 mpswise, bpmAx: All Run 5707 mpswise, bpmAx: Beam OFF
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Run 5707, mpswise, bpmAy: Beam ON, Laser ON
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Run 5707 mpswise, bpmBx: All

_lIIIIIIIIIlIIIIlIIIIlIIII nlllllllllllllllllll

— Enilries: 221664

Mearn: -0. 2380 < 000OTF

Sid Dev: 03505 +- 0.0005

—40 -30 20 -10 0 10 20 30 40
bpmBx

Run 5707, mpswise, bpmBx: Beam ON, Laser ON
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Run 5707 mpswise, bpmBy: All
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Run 5707, mpswise, bpmBy: Beam ON, Laser ON

Entries: 120640

Mean: 0043713 +- 00001
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Run 5707 mpswise, beam ON, laser ON
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Run 5707 mpswise, beam OFF, laser ON
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Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam ON, laser ON Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam ON, laser ON
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:4 AN T I T A N T T T T T T T T T N 0 B A O A O
100 150 200 250 300 350 400 450 00

mpsCoda

«10°

*10

Cav Power

Cav Power

2000

1500

1000

500

1500

1000

500

Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam ON, laser ON
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Run 5707 mpswise, beam OFF, laser ON
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Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam OFF, laser OFF
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Run 5707 mpswise, beam ON, laser ON
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Run 5707 mpswise, beam ON, laser OFF

i ey m SR i it

0.4

0.2

-|III|III.|III.|II#III|III|III|III|I
|III|III|III|I!::III|III|III|III|I

T 1

1 1 | 1 11 1 | 1 11 1 | L 111 I I | I L 111 I 1 11 1 I I | | 1 111 | L1 =1 ﬂa 1 1 I I | | I | | 1 111 | 1L 11 1 | L1 11 | 1 11 1 | 1 111 | 1 1 11 | L1 =1 ﬂa
100 150 200 250 300 350 400 450 500 100 150 200 250 300 350 400 450 500
mpsCoda mpsCoda

[ 1

Run 5707 mpswise, beam OFF, laser ON Run 5707 mpswise, beam OFF, laser OFF
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Run 5707 mpswise, beam ON, laser ON
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Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam OFF, laser ON Run 5707 mpswise, beam OFF, laser OFF
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Run 5707 mpswise, beam ON, laser ON
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Run 5707 mpswise, beam ON, laser OFF
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Run 5707 mpswise, beam OFF, laser ON Run 5707 mpswise, beam OFF, laser OFF
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